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Passage for Question 1, 2, 3, 4, 5 (ST-265CRPBCLPRE(16-20E)2019)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

Without knowledge we would have still been living a (A) life. It is knowledge through which we have evolved and developed immensely. In the Stone Age, man had
no knowledge and was a (B) creature. He was a nomad who depended on nature and wandered around vaguely in search of food and shelter. He rambled in the
(O) to protect himself from the predators. Man has unfolded several mysteries of nature with knowledge. He started observing and studying natural phenomena
around him by synchronizing the mind and body.

Man’s passion to gain awareness and be familiar with the unknown and uncertain gave him the ability to comprehend the phenomenon around him and gain (D) to
develop new facts. Man started hunting and making tools to hunt. He also invented fire and learned to use it effectively. The animals he feared from becoming the
(E) for him. He observed and understood the natural phenomenon around him and started using nature and its resources for his personal benefit.

hi Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

Without knowledge we would have still been living a (A) life. It is knowledge through which we have evolved and developed immensely. In the Stone Age, man had
no knowledge and was a (B) creature. He was a nomad who depended on nature and wandered around vaguely in search of food and shelter. He rambled in the
(C) to protect himself from the predators. Man has unfolded several mysteries of nature with knowledge. He started observing and studying natural phenomena
around him by synchronizing the mind and body.

Man’s passion to gain awareness and be familiar with the unknown and uncertain gave him the ability to comprehend the phenomenon around him and gain (D) to
develop new facts. Man started hunting and making tools to hunt. He also invented fire and learned to use it effectively. The animals he feared from becoming the
(E) for him. He observed and understood the natural phenomenon around him and started using nature and its resources for his personal benefit.

Q-1 Choose the correct option for (A)

eng
01. Settled 02. Nomadic
03. Native 04. Stationary
05. Stable

Q-1 Choose the correct option for (A)

hi
01. Settled 02. Nomadic
03. Native 04. Stationary
05. Stable

Solution for Question 1

eng Nomadic (adj.) - wandering
For other options:
Native (adj.) - associated with the place of a person's birth
Stationary (adj.) — lacking good sense or judgment

hi Nomadic (adj.) - wandering
For other options:
Native (adj.) - associated with the place of a person's birth
Stationary (adj.) — lacking good sense or judgment

Q-2 Choose the correct option for (B)

eng
01. Hapless 02. Senseless
03. Lucky 04. Happy
05. Fortunate

Q-2 Choose the correct option for (B)

hi
01. Hapless 02. Senseless
03. Lucky 04. Happy

05. Fortunate



Solution for Question 2

eng Hapless (adj.) -unfortunate.
For other options:
Fortunate (adj.) — having unexpected good fortune.

hi Hapless (adj.) -unfortunate.
For other options:
Fortunate (adj.) — having unexpected good fortune.

Q-3 Choose the correct option for (C)

eng
01. Ranges 02. Cities
03. Situation 04.  Vicinity
05. Sea

Q-3 Choose the correct option for (C)

hi
01. Ranges 02. Cities
03. Situation 04.  Vicinity
05. Sea

Solution for Question 3

eng Vicinity (n) - a surrounding or nearby region.

hi Vicinity (n) - a surrounding or nearby region.

Q-4 Choose the correct option for (D)

eng
01. Stardom 02. Violence
03. Feeling 04. Light
05. Insight

Q-4 Choose the correct option for (D)

hi
01. Stardom 02. Violence
03. Feeling 04. Light
05. Insight

Solution for Question 4

eng insight (n) — Clear or deep perception of a situation.
For other options:
Violence (n) — behaviour involving physical force intended to hurt, damage, or kill someone

hi insight (n) — Clear or deep perception of a situation.
For other options:
Violence (n) — behaviour involving physical force intended to hurt, damage, or kill someone

Q-5 Choose the correct option for (E)

eng
01. Business 02. Profit
03. Resource 04. Result
05. Means

Q-5 Choose the correct option for (E)

hi
01. Business 02. Profit
03. Resource 04. Result
05. Means

Solution for Question 5
eng Resource (n) - A source of aid or support that may be drawn upon when needed.

hi Resource (n) - A source of aid or support that may be drawn upon when needed.

Passage for Question 6, 7, 8, 9, 10 (ST-264CRPCLERKPRE(26-30E)2019)



eng Passage

Read the passage carefully and answer the questions given below-:

The credibility-undermining influence of the privileged can be seen in many ways. The rich can disproportionately claim exemptions from the state. At the moment
when everyone agrees that rural India bore the brunt of demonetisation, when the fiscal deficit and inequality are both high, corporate tax cuts and tax cuts for upper
income brackets more generally are a crazy idea. If the structural diagnosis of our malaise is correct then, this is a system largely geared to the consumption and
investment needs of a hundred million, leaving the rest of the billion in the lurch, then all measures that reinforce the privilege at the top will be counter-productive.
The other unintended consequence of undue tax cuts for the rich is that the political pressure for populist compensations increases rather than decreases as a result.
The fiscal deficit will be harder to contain. In short, if you are a country whose political economy is going to oscillate between bowing to blackmail from the rich, and;
indiscriminate populist spending to compensate, you are not on a sustainable path. Your credibility will be low.

The second baleful influence of the privileged is over the regulatory system. India is now in a peculiar situation, where two opposed trends are creating a credibility
crisis simultaneously. On the one hand, there have been attempts to “clean up the system” as it were and in some cases, create mechanisms for an orderly exit.
Some of the uncertainty is the result of this process, whether it is in banking, real estate or the creation of the bankruptcy process. But the confidence is diminishing
whether the government has the bandwidth to create a legal and regulatory culture that can bring this process to fruition. Or will we end up in half measures, where
the poison is revealed but no mechanisms to absorb it? More than economists, what the government needs is to train a critical mass of people across all institutions
of economic governance — legal drafting, taxation, regulatory bodies, banking — who can create a credible regulatory culture. On the other hand, there is a
perception that the system as whole is moving in a direction where a couple of groups will exercise disproportionate influence on the political system. We are at the
risk of moving from decentralised to centralised and concentrated cronyism (centralised both in terms of givers and recipients of benefits). The combination of half-
done clean-up of the old, and new cronyism at the top is not a recipe for credibility.

The third credibility gap is the private sector itself. We can rail against the government all we want, but the fact is that episodes like Ranbaxy, IL&FS, DHFL, shake
the credibility of the entire system. The issue is not the number of companies that might have engaged in creative accounting; maybe that number is still small. But can|
you now tell what is kosher and what is not? What these episodes exposed was the fragility of accountability systems in the private sector: Whether it is the
reputation of the big accounting firms, who are still getting off lightly, or of corporate governance. Failures in many of these firms have systemic consequences. So,
risk aversion will increase and no one will bet on the future. Economies, as Keynes knew, turn on structures of credibility. We are frittering that away at every level,
even in economics.

hi Passage

Read the passage carefully and answer the questions given below-:

The credibility-undermining influence of the privileged can be seen in many ways. The rich can disproportionately claim exemptions from the state. At the moment
when everyone agrees that rural India bore the brunt of demonetisation, when the fiscal deficit and inequality are both high, corporate tax cuts and tax cuts for upper
income brackets more generally are a crazy idea. If the structural diagnosis of our malaise is correct then, this is a system largely geared to the consumption and
investment needs of a hundred million, leaving the rest of the billion in the lurch, then all measures that reinforce the privilege at the top will be counter-productive.
The other unintended consequence of undue tax cuts for the rich is that the political pressure for populist compensations increases rather than decreases as a result.
The fiscal deficit will be harder to contain. In short, if you are a country whose political economy is going to oscillate between bowing to blackmail from the rich, and;
indiscriminate populist spending to compensate, you are not on a sustainable path. Your credibility will be low.

The second baleful influence of the privileged is over the regulatory system. India is now in a peculiar situation, where two opposed trends are creating a credibility
crisis simultaneously. On the one hand, there have been attempts to “clean up the system” as it were and in some cases, create mechanisms for an orderly exit.
Some of the uncertainty is the result of this process, whether it is in banking, real estate or the creation of the bankruptcy process. But the confidence is diminishing
whether the government has the bandwidth to create a legal and regulatory culture that can bring this process to fruition. Or will we end up in half measures, where
the poison is revealed but no mechanisms to absorb it? More than economists, what the government needs is to train a critical mass of people across all institutions
of economic governance — legal drafting, taxation, regulatory bodies, banking — who can create a credible regulatory culture. On the other hand, there is a
perception that the system as whole is moving in a direction where a couple of groups will exercise disproportionate influence on the political system. We are at the
risk of moving from decentralised to centralised and concentrated cronyism (centralised both in terms of givers and recipients of benefits). The combination of half-
done clean-up of the old, and new cronyism at the top is not a recipe for credibility.

The third credibility gap is the private sector itself. We can rail against the government all we want, but the fact is that episodes like Ranbaxy, IL&FS, DHFL, shake
the credibility of the entire system. The issue is not the number of companies that might have engaged in creative accounting; maybe that number is still small. But can|
you now tell what is kosher and what is not? What these episodes exposed was the fragility of accountability systems in the private sector: Whether it is the
reputation of the big accounting firms, who are still getting off lightly, or of corporate governance. Failures in many of these firms have systemic consequences. So,
risk aversion will increase and no one will bet on the future. Economies, as Keynes knew, turn on structures of credibility. We are frittering that away at every level,
even in economics.

Q-6 ‘You are not on a sustainable path’ — Who is ‘you’ referred as in the passage?
eng

(A) For a country which gets blackmailed by rich.

(B) For a country which is on a sustainable path.

(C) For a country whose political economy is going to oscillate.

01. Only A 02. Both A and C
03. BothBandC 04. OnlyD
05.  All of the above
Q-6 ‘You are not on a sustainable path’ — Who is ‘you’ referred as in the passage?

(A) For a country which gets blackmailed by rich.
(B) For a country which is on a sustainable path.



(C) For a country whose political economy is going to oscillate.

01. Only A 02. Both AandC
03. Both Band C 04. OnlyD
05. All of the above

Solution for Question 6

Explanation -The answer lies in the first paragraph of the passage.

Explanation -The answer lies in the first paragraph of the passage.

According to the passage, which of the following, is TRUE?

(A) The issue is that many companies have engaged in creative accounting.
(B) We are at the risk of moving from centralised to decentralised.
(C) We can never rail against the government all we want.

01. OnlyA 02. OnlyB
03. OnlyC 04. Only Aand B

05. None of the above.
According to the passage, which of the following, is TRUE?

(A) The issue is that many companies have engaged in creative accounting.
(B) We are at the risk of moving from centralised to decentralised.
(C) We can never rail against the government all we want.

01. Only A 02. Only B
03. OnlyC 04. Only Aand B
05. None of the above.

Solution for Question 7

eng

hi

Q-8

eng

Explanation — The answer can be inferred after reading the whole passage.

Explanation — The answer can be inferred after reading the whole passage.

According to the passage, which of the following is/are the institution/s of economic governance?

A. Taxation

B. Banking

C. Regulatory bodies
D. Illegal drafting

01. OnlyA 02. OnlyD
03. BothBandD 04. Both A and C

05. All except D
According to the passage, which of the following is/are the institution/s of economic governance?

A. Taxation

B. Banking

C. Regulatory bodies
D. Illegal drafting

01. OnlyA 02. OnlyD
03. BothBand D 04. Both A and C
05. All except D

Solution for Question 8

eng

hi

Q-9

eng

Explanation — The answer is given in the second paragraph of the passage.

Explanation — The answer is given in the second paragraph of the passage.

According to the passage, which of the following is NOT TRUE?

(A) Everyone agrees that rural India was badly impacted by demonetization.
(B) Ranbaxy, IL&FS, DHFL disturb the reputation of the entire system.
(C) Risk aversion will decline in the future which has many repercussions.



01. Only A 02. OnlyB
03. OnlyC 04. Only Aand B

05. Only Band C
According to the passage, which of the following is NOT TRUE?

(A) Everyone agrees that rural India was badly impacted by demonetization.
(B) Ranbaxy, IL&FS, DHFL disturb the reputation of the entire system.
(O) Risk aversion will decline in the future which has many repercussions.

01. Only A 02. OnlyB
03. Only C 04. Only Aand B
05. Only Band C

Solution for Question 9

eng

hi

Q-10

eng

Explanation — The answer can be inferred after reading the whole passage.

Explanation — The answer can be inferred after reading the whole passage.

What is the third influence of the privileged, according to the passage?

01. The influence of the privileged is over the ~ 02. The influence of the privileged is over the rich
regulatory system

03. The influence is over each and every 04. Both (2) and (3)
individual

0S. The influence is the credibility gap in the
private sector

What is the third influence of the privileged, according to the passage?

01. The influence of the privileged is overthe ~ 02. The influence of the privileged is over the rich
regulatory system

03. The influence is over each and every 04. Both (2) and (3)
individual

05. The influence is the credibility gap in the
private sector

Solution for Question 10

eng

hi

Q-11

eng

Explanation — The answer lies in the third paragraph of the passage.

Explanation — The answer lies in the third paragraph of the passage.

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

Indian government’s decision to ban 59 Chinese app (1)/ including the popular TikTok opens a new front (2)/ in the economic retaliation measures against
Chinese aggression (3)at the Line of Actual Control in Eastern Ladakh.(4)/ No error (5).

01. 1 02. 2
03. 3 04. 4
05. 5

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

Indian government’s decision to ban 59 Chinese app (1)/ including the popular TikTok opens a new front (2)/ in the economic retaliation measures against
Chinese aggression (3)at the Line of Actual Control in Eastern Ladakh.(4)/ No error (5).

01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 11

eng

hi

There should be “apps’ in place of ‘app’ because it is preceded by plural numeral adjective.

There should be ‘apps’ in place of ‘app’ because it is preceded by plural numeral adjective.



Q-12

eng

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

Despite of boasting a huge app developer community, (1)/ Indian startups have failed to develop domestic (2)/ social media platforms leaving domestic
users with no option (3)/ but to depend on US or Chinese services. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

Despite of boasting a huge app developer community, (1)/ Indian startups have failed to develop domestic (2)/ social media platforms leaving domestic
users with no option (3)/ but to depend on US or Chinese services. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 12

eng

hi

Q-13

eng

Q-13

hi

‘of” should be deleted after the word ‘despite’ because ‘despite’ does not take ‘of” with it.

‘of” should be deleted after the word ‘despite’ because ‘despite’ does not take ‘of” with it.

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

The Covid-19 death toll in India has exceeded 16,000, (1)/ which is every bit tragic, but these numbers (2)/ are a evaporating droplet in comparison (3) to
15 million fatalities in the Spanish flu. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

The Covid-19 death toll in India has exceeded 16,000, (1)/ which is every bit tragic, but these numbers (2)/ are a evaporating droplet in comparison (3) to
15 million fatalities in the Spanish flu. (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Solution for Question 13

eng

hi

Q-14

eng

Q-14

hi

There should be ‘an’ in place of ‘a’ before the word ‘evaporating’.

There should be ‘an’ in place of ‘a’ before the word ‘evaporating’.

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

An insight into the directional changes (1)/ can be gleaned of how battle field (2)/ deaths were dealt with (3)/ in pre-democracies. (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).

An insight into the directional changes (1)/ can be gleaned of how battle field (2)/ deaths were dealt with (3)/ in pre-democracies. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4



05. 5
Solution for Question 14

eng use ‘from’ after the verb ‘glean’ because ‘glean’ takes the preposition ‘from’ (glean from = obtain (information) from various sources, often with difficulty.)

hi use ‘from’ after the verb ‘glean’ because ‘glean’ takes the preposition ‘from’ (glean from = obtain (information) from various sources, often with difficulty.)

Q-15 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
eng which are similar in meaning to the word given in bold.

Once she was comfortable with us she opened up, displaying a sharp and inquisitive mind.

A. Cajole
B. Intrepid
C. Curious

01. Only A 02. BothBand C
03. OnlyB 04. Both Aand C

05. OnlyC
Q-15 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
hi which are similar in meaning to the word given in bold.

Once she was comfortable with us she opened up, displaying a sharp and inquisitive mind.

A. Cajole
B. Intrepid
C. Curious

01. Only A 02. BothBandC
03. OnlyB 04. Both A and C
0S. OnlyC

Solution for Question 15

eng Inquisitive (adj.)- having or showing an interest in learning things; curious.
For other options-

Intrepid (adj.)- fearless; adventurous (often used for rhetorical or humorous effect).
Cajole (v)- persuade (someone) to do something by sustained coaxing or flattery.

hi Inquisitive (adj.)- having or showing an interest in learning things; curious.
For other options-
Intrepid (adj.)- fearless; adventurous (often used for rhetorical or humorous effect).
Cajole (v)- persuade (someone) to do something by sustained coaxing or flattery.

Q-16 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
eng which similar in meaning to the word given in bold.

Their approach to the problem has been vindicated by the positive results.

A. Absolved
B. Promulgated
C. Acquitted

01. Only A 02. BothBand C
03. OnlyB 04. Both Aand C

0S. OnlyC
Q-16 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
hi which similar in meaning to the word given in bold.

Their approach to the problem has been vindicated by the positive results.

A. Absolved

B. Promulgated

C. Acquitted

01. Only A 02. BothBandC
03. OnlyB 04. Both A and C

05. OnlyC



Solution for Question 16

eng Vindicate (v) - clear (someone) of blame or suspicion; acquit.
For other options-
Promulgate (v) - promote or make widely known (an idea or cause).

hi Vindicate (v) - clear (someone) of blame or suspicion; acquit.
For other options-
Promulgate (v) - promote or make widely known (an idea or cause).

Q-17 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
eng which similar in meaning to the word given in bold.

The patient should continue to take about 100 grains a day for at least a fortnight after he is apparently convalescent; otherwise a recrudescence is very
probable.

A. Rendering
B. Recovering
C. Recuperating

01. Only A 02. BothBand C
03. OnlyB 04. Both AandC
05. OnlyC

Q-17 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
hi which similar in meaning to the word given in bold.

The patient should continue to take about 100 grains a day for at least a fortnight after he is apparently convalescent; otherwise a recrudescence is very
probable.

A. Rendering
B. Recovering
C. Recuperating

01. Only A 02. BothBand C
03. OnlyB 04. Both Aand C
05. OnlyC

Solution for Question 17

eng Convalescent (adj.)- (of a person) recovering from an illness or medical treatment; recuperating.
For other options-
Rendering (n)- a performance of a piece of music or drama.

hi Convalescent (adj.)- (of a person) recovering from an illness or medical treatment; recuperating.
For other options-
Rendering (n)- a performance of a piece of music or drama.

Q-18 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
eng which similar in meaning to the word given in bold.

After embarrassed apologies, she seemed compelled to sit down and chat, as if idle conversation might be penance for the pilfered peach pie.

A. Consensus
B. Atonement
C. Condemnation

0L. OnlyA 02. Both AandB
03. OnlyB 04. Both Aand C

05. AllA,BandC
Q-18 In the following question, a sentence is given containing a highlighted word and three words have been given below it. Choose the word(s)
hi which similar in meaning to the word given in bold.

After embarrassed apologies, she seemed compelled to sit down and chat, as if idle conversation might be penance for the pilfered peach pie.

A. Consensus
B. Atonement
C. Condemnation

01. Only A 02. BothAandB



03. OnlyB 04. BothAandC
05. AllA,BandC

Solution for Question 18

eng

Q-19

eng

Penance (n)- punishment inflicted on oneself as an outward expression of repentance for wrongdoing.
Atonement (n)- the action of making amends for a wrong or injury.

For other options-

Consensus (n)- a general agreement.

Condemnation (n)- the expression of very strong disapproval; censure.

Penance (n)- punishment inflicted on oneself as an outward expression of repentance for wrongdoing.
Atonement (n)- the action of making amends for a wrong or injury.

For other options-

Consensus (n)- a general agreement.

Condemnation (n)- the expression of very strong disapproval; censure.

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

artificial intelligence and machine learning have put (A)/ not only perform a range of routine physical activities better and more cheaply than humans (B)/
recent developments in robotics, (C)/ us on the cusp of a new automation age, Robots and computers can (D)

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

artificial intelligence and machine learning have put (A)/ not only perform a range of routine physical activities better and more cheaply than humans (B)/
recent developments in robotics, (C)/ us on the cusp of a new automation age, Robots and computers can (D)

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

Solution for Question 19

eng

hi

Q-20

eng

The right arrangement is ‘Recent developments in robotics, artificial intelligence and machine learning have put us on the cusp of a new automation age,
Robots and computers can not only perform a range of routine physical activities better and more cheaply than humans.

The right arrangement is ‘Recent developments in robotics, artificial intelligence and machine learning have put us on the cusp of a new automation age,
Robots and computers can not only perform a range of routine physical activities better and more cheaply than humans.

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

that mean for other professions (A)/ if the extremely complex task of (B)/ including architecture? (C)/ driving can be replaced, what does (D).

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

that mean for other professions (A)/ if the extremely complex task of (B)/ including architecture? (C)/ driving can be replaced, what does (D).

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

Solution for Question 20

eng

hi

Q-21

eng

The right arrangement is ‘If the extremely complex task of driving can be replaced, what does that mean for other professions including architecture?’.

The right arrangement is ‘If the extremely complex task of driving can be replaced, what does that mean for other professions including architecture?’.

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct ord er of the sentence.



microblogging website Weibo, which (A)/ he had joined a few years ago (B)/ Prime Minister, too, decided to quit the Chinese (C)/ as the Indian
government announced a ban on 59 Chinese apps, (D).

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct ord er of the sentence.

microblogging website Weibo, which (A)/ he had joined a few years ago (B)/ Prime Minister, too, decided to quit the Chinese (C)/ as the Indian
government announced a ban on 59 Chinese apps, (D).

01. DCAB 02. ACBD
03. CADB 04. CBDA
05. BDAC

Solution for Question 21

eng

hi

Q-22

eng

The right sentence is ‘As the Indian government announced a ban on 59 Chinese apps, Prime Minister, too, decided to quit the Chinese microblogging
website Weibo, which he had joined a few years ago.’

The right sentence is ‘As the Indian government announced a ban on 59 Chinese apps, Prime Minister, too, decided to quit the Chinese microblogging
website Weibo, which he had joined a few years ago.’

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

according to the updated data (A)/ at 2,10,120, while 3,21,722 people (B)/ the number of active cases stands (C)/ have recovered, and one patient has
migrated, (D).

01. DBAC 02. ACBD
03. CADB 04. CBDA
05. BDAC

In the following question, a sentence is given which in divided into four parts and order has been changed, choose the option which is showing
the correct order of the sentence.

according to the updated data (A)/ at 2,10,120, while 3,21,722 people (B)/ the number of active cases stands (C)/ have recovered, and one patient has
migrated, (D).

01. DBAC 02. ACBD
03. CADB 04. CBDA
05. BDAC

Solution for Question 22

eng

hi

Q-23

eng

The right sentence is “The number of active cases stands at 2,10,120, while 3,21,722 people have recovered, and one patient has migrated, according to
the updated data.’

The right sentence is “The number of active cases stands at 2,10,120, while 3,21,722 people have recovered, and one patient has migrated, according to
the updated data.’

The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
the correct answer(s), which will make the sentence meaningful.

The government has moved smartly to block 59 apps ----------- by the Chinese — including popular ones such as TikTok with more than 120 million active
Indian users.

A. forfeited
B. backed
C. recovered

01. Only A 02. OnlyB
03. OnlyC 04. Both AandB

05. Both A and C
The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
the correct answer(s), which will make the sentence meaningful.



The government has moved smartly to block 59 apps ----------- by the Chinese — including popular ones such as TikTok with more than 120 million active
Indian users.

A. forfeited
B. backed
C. recovered

01. OnlyA 02. OnlyB
03. OnlyC 04. Both A and B
05. Both A and C

Solution for Question 23

eng Back (v) - give financial, material, or moral support to.
For other options-
Recover (v)- return to a normal state of health, mind, or strength.
Forfeit(v)- lose or give up (something) as a necessary consequence of something else.

hi Back (v) - give financial, material, or moral support to.
For other options-
Recover (v)- return to a normal state of health, mind, or strength.
Forfeit(v)- lose or give up (something) as a necessary consequence of something else.

Q-24 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
eng the correct answer(s), which will make the sentence meaningful.

There is an instructive history in the ----------------- and prohibition of books by the medieval church.

A. adulation
B. sophistication
C. condemnation

01. Only A 02. OnlyB
03. OnlyC 04. Both Aand B

05. Both A and C
Q-24 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
hi the correct answer(s), which will make the sentence meaningful.

There is an instructive history in the ----------------- and prohibition of books by the medieval church.

A. adulation
B. sophistication
C. condemnation

01. OnlyA 02. OnlyB
03. OnlyC 04. Both A and B
05. Both A and C

Solution for Question 24

eng Condemnation (n) - the expression of very strong disapproval; censure.
For other options-
Adulation (n)- excessive admiration or praise.
Sophistication (n)- the quality of being sophisticated (having, revealing, or involving a great deal of worldly experience and knowledge of fashion and
culture).

hi Condemnation (n) - the expression of very strong disapproval; censure.
For other options-
Adulation (n)- excessive admiration or praise.
Sophistication (n)- the quality of being sophisticated (having, revealing, or involving a great deal of worldly experience and knowledge of fashion and
culture).

Q-25 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
eng the correct answer(s), which will make the sentence meaningful.

Two deadly industrial disasters, in Tamil Nadu and Andhra Pradesh, leading to the loss of at least eight lives and causing serious injuries to many, once
again ----------- the value of safety protocols.

A. underscore
B. accentuate
C. propagate



01. OnlyA 02. OnlyB
03. OnlyC 04. Both A and B
05. Both AandC

Q-25 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
hi the correct answer(s), which will make the sentence meaningful.

Two deadly industrial disasters, in Tamil Nadu and Andhra Pradesh, leading to the loss of at least eight lives and causing serious injuries to many, once
again ----------- the value of safety protocols.

A. underscore
B. accentuate
C. propagate

01. OnlyA 02. OnlyB
03. OnlyC 04. Both AandB
05. Both A and C

Solution for Question 25

eng Accentuate (v)- make more noticeable or prominent.
Underscore (v)- underline (something).
For other options-
Propagate (v)- spread and promote (an idea, theory, etc.) widely.

hi Accentuate (v)- make more noticeable or prominent.
Underscore (v)- underline (something).
For other options-
Propagate (v)- spread and promote (an idea, theory, etc.) widely.

Q-26 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
eng the correct answer(s), which will make the sentence meaningful.

They read letters which they said had fallen from heaven, and which threatened the earth with terrible punishments if men refused to ------------ the mode
of penance taught by the flagellants.

A. adopt

B. synchronise

C. arrange

01. Only A 02. OnlyB

03. OnlyC 04. Both A and B

05. Both A,BandC
Q-26 The following question consists of a sentence with a blank. You are given three words as answer choices and from those, you have to pick up
hi the correct answer(s), which will make the sentence meaningful.

They read letters which they said had fallen from heaven, and which threatened the earth with terrible punishments if men refused to ------------ the mode
of penance taught by the flagellants.

A. adopt

B. synchronise

C. arrange

01. OnlyA 02. OnlyB

03. OnlyC 04. Both A and B

05. Both A,BandC
Solution for Question 26

eng Adopt (v) - to take and use something,
For other options-
Synchronise (v)- cause to occur or operate at the same time or rate.

hi Adopt (v) - to take and use something,
For other options-
Synchronise (v)- cause to occur or operate at the same time or rate.

Q-27 In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
eng in which the phrase/idiom has been used correctly and mark your answer accordingly.



Bury the hatchet

A. By the fear of Police the gang of college requested to bury the hatchet to the guy who was beaten so badly just for not obeying gang's order.
B. Drugs are sold unashamedly in bury the hatchet.
C. They need to calm down and bury the hatchet before someone gets hurt.

01. Only A 02. Both A and B
03. OnlyC 04. BothAandC

05. All are correct
In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

Bury the hatchet

A. By the fear of Police the gang of college requested to bury the hatchet to the guy who was beaten so badly just for not obeying gang's order.
B. Drugs are sold unashamedly in bury the hatchet.
C. They need to calm down and bury the hatchet before someone gets hurt.

01. Only A 02. Both A and B
03. OnlyC 04. Both AandC

05. All are correct

Solution for Question 27

eng

hi

Q-28

eng

Q-28
hi

In sentence A and C, Bury the hatchet -make peace, end a quarrel.
In sentence B, Broad day light- during the day when people and things can be easily seen.

In sentence A and C, Bury the hatchet -make peace, end a quarrel.
In sentence B, Broad day light- during the day when people and things can be easily seen.

In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

The gift of the gab

A. He was entertaining company and certainly had the gift of the gab.
B. Nicole has the gift of the gab and the ability to fire out a quick response without thinking too much about it.
C. She acted in a completely open and the gift of the gab.

01. OnlyA 02. Both AandB
03. OnlyC 04. Both A and C

05. All are correct
In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

The gift of the gab

A. He was entertaining company and certainly had the gift of the gab.
B. Nicole has the gift of the gab and the ability to fire out a quick response without thinking too much about it.
C. She acted in a completely open and the gift of the gab.

01. Only A 02. Both A and B
03. OnlyC 04. Both A and C

05. All are correct

Solution for Question 28

eng

hi

Q-29

eng

In sentence A and B, The gift of gab- the ability of speaking confidently.
In sentence C, Aboveboard — legitimate and honest.

In sentence A and B, The gift of gab- the ability of speaking confidently.
In sentence C, Aboveboard — legitimate and honest.

In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

To grease the palm

A. Meanwhile, Li's company was accused of greasing the palms of Beijing's vice-mayor, Wang Bao Sheng.



B. Admission to college is largely through bribery, and if you do not have money to grease the palms of a college official, your children are left out.
C. I greased my brother's palm to stop him from telling Mom that I had a party while she was away.

01. Only A 02. Both A and B
03. OnlyC 04. Both AandC

05. All are correct
In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

To grease the palm

A. Meanwhile, Li's company was accused of greasing the palms of Beijing's vice-mayor, Wang Bao Sheng.
B. Admission to college is largely through bribery, and if you do not have money to grease the palms of a college official, your children are left out.
C. I greased my brother's palm to stop him from telling Mom that I had a party while she was away.

01. Only A 02. Both A and B
03. OnlyC 04. Both AandC

05. All are correct

Solution for Question 29

eng

hi

Q-30

eng

In sentence A,B and C, To grease the palm - To bribe one discreetly.

In sentence A,B and C, To grease the palm - To bribe one discreetly.

In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

Read between the lines

A. She said she could afford it, but reading between the lines I don't think she has enough money.
B. Everything still has to be in reading between the lines, even though he left the army years ago.
C. Ifyou read between the lines, you can detect his contrived explanation.

01. Only A 02. BothAandB
03. OnlyC 04. Both AandC

05. All are correct
In the following question, a phrase/idiom has been given and it has been used in the three sentences given below it. Choose the sentence (s)
in which the phrase/idiom has been used correctly and mark your answer accordingly.

Read between the lines

A. She said she could afford it, but reading between the lines I don't think she has enough money.
B. Everything still has to be in reading between the lines, even though he left the army years ago.
C. If you read between the lines, you can detect his contrived explanation.

01. OnlyA 02. Both AandB
03. OnlyC 04. Both A and C

05. All are correct

Solution for Question 30

eng

hi

Q-31

eng

In sentence A and C, Read between the lines —understand the things which is not said or mentioned.
In sentence B, An apple pie order- to be perfectly arranged and tidy.

In sentence A and C, Read between the lines —understand the things which is not said or mentioned.
In sentence B, An apple pie order- to be perfectly arranged and tidy.

Out of two squares, the perimeter of the first is 24 metres and the perimeter of the second is 10 metres. Find out the perimeter of the third square, whose
area is equal to the sum of the areas of the both squares.

01. 24m. 02. 30m.

03. 26m. 04. 72 m.
FT AN | &, Tgf T TRATT 24 HeT § 37T AT TRATT 10 Hiex & | TH a9 & TRATT FHT 9q7 R0, St d=we 1 a1 % =%t & TR 5
ERACRE]



01. 24, 02. 304
03. 26 . 04. 727t
Solution for Question 31

eng A2 .-5\.:: :_.fE-.:z
L14) L4
A2_ (576+100)
16
A=65

Perimeter of the third square = 6.5 x 4 =26 m.

hi A2 .-E\.;::_.-E-.:z
L4) L4
A2 - (576+100)
16
A=6.5

A ot ohr g = 6.5 x 4 = 26 .

Q-32 A work is done by three persons A, B and C. A alone takes 10 hours to complete the work but B and C working together takes 4 hours, for the

eng completion of the same work. If all of them worked together and completed 14 times of the work, then how many hours have they worked?
01. 40hr. 02. 20hr.
03. 42hr. 04. 28 hr.
05. 30hr.

Q-32  UHFFI FHI AT AN A, B 3T C ZTT AT SITAT 8 | A 380 FTF T 3ol T FIA § 10 5 oq1 & AT B 3T C UHars Hashe 6T F717 &1 4 5 §
hi T FA gl AR T AT T & F7d @ oY T F7 14 T F1F QT TS 2 qr S b we w1 AT 82

01. 40 02. 20 =<
03. 425 04. 28 &
05. 30 =<

Solution for Question 32
eng A

—10 2
B+C— i >2&<5

Time taken to complete the work = (20/7) hr.
Time taken to complete 14 times of the work = (20/7) x 14 =40 hrs.

A — 10 = 2

Bag-a = 4> &<5

T o1 QU L H foTa T § 6 = (20/7) €

T T 14 T U AT H /T T E = (20/7) x 14 = 40 5

Q-33 40% of the employees in a factory are workers and the remaining employees are executives. The annual income of each worker is Rs. 39000. The annual

eng income of each executive is Rs. 42000. What is the average annual income of all the employees in the factory together?
01. 40000 02. 38500
03. 40800 04. 41500
05. 40200

Q-33  TF FREM H 40% FHAT ASGY & T AT FHAT FAh | TAF ASGL 1 AT 17 39000 F & 3T T4 A il aArfuah s 42000 F gl
hi FTLET F THT FHATTAT T THATT AT AT F 0T F4T 82

01. 40000 02. 38500
03. 40800 04. 41500
05. 40200

Solution for Question 33

eng 39000 42000

4004 a0%%



x=40800

hi 39000 42000
X

40% 60%
x = 40800

Q-34 In how many different ways can the letters of the word 'HAPPY" be arranged?

eng
01. 120 02. 140
03. 60 04. 70
05. 180
Q-34 5% 'HAPPY' % 37812 [ [l STONT-SAT it | A ed haT ST ohal 82
hi
01. 120 02. 140
03. 60 04. 70
05. 180

Solution for Question 34

o

eng =60

| !

Required number of ways =

(]

|L)

= anefts YHRT Y T = -!|=60

(=]

Q-35 A trader sells two articles at Rs.27000 each. He makes a profit of 20% in the sale of the first article and a loss of 20% in the sale of the second article.
eng What is his net gain or loss percent?

01. 5% gain 02. 5% loss
03. 4% gain 04. 4% loss

05. None of these
Q-35  THF ATIEN 27,000 FTF & T G0 THF HT SoqT | TG Tl q& il [T 7 20% FT ATH FHATAT § 3T THL q%G 00 [ae0l 7 20% =T g I
hi FIAT 1 IEHT Y[ ATH AT ZT Tiera T g2

01. 5% =T 02. 5% Tt
03. 4% =TT 04. 49 gTf
05. =oH q FIS ARt

Solution for Question 35

eng [ +20)(=20) )
Net profit or loss % = +20-20 -.-% |

=—49% loss

hi ( +20)(=20))
@A AE % = 420 —:0+% _

=—49% loss

Q-36 What will come in place of question mark (?) in the following question?

eng
— 4873 + 6864.25 + 3362.45 = 7 + (18)°

01. 854.50 02. —478.30
03. 487.5 04. —472.50

05. None of these
Q-36 R I d wwara® (g (2) F TITT ITFATAIT?

4873 + 6864.25 + 3362.45 = 7 + (18)3



01. 854.50 02. —478.30
03. 4875 04. —472.50
05. None of these

Solution for Question 36

eng

Q-37

eng

5353.70 — 5832 =2
2= 47830

5353.70 — 5832 =7
?7=-478.30

What will come in place of question mark (?) in the following question?

116 % of 8725 -39 % of 8720 =2

01. 6724.50 02. 6720.20
03. 6950.40 04. 6137.25
05. 6737.50

e w1 § waaTa® g (2) F TATT ITFATAAT?

8725 T 116 % — 8720 =T 39 %="?

01. 6724.50 02. 6720.20
03. 6950.40 04. 6137.25
05. 6737.50

Solution for Question 37

eng

Q-38

eng

10121 —3400. 8=?
?7=6720.20

10121 —3400. 8 =?
?7=6720.20

What will come in place of question mark (?) in the following question?

32x45%x38=72+72x12

01. 48.02 02. 46.08
03. 47.25 04. 46.72
05. 48.25

e w1 § wwaTa® 278 (2) F TATTITFATAA?

32x45%x38=2+72x12

01. 48.02 02. 46.08
03. 47.25 04. 46.72
05. 48.25

Solution for Question 38

eng

hi

Q-39

eng

54.72 -8.64 =7
?7=46.08

54.72 - 8.64 ="
?=46.08
What will come in place of question mark (?) in the following question?

(725%x6x7)+12-13.5="2

01. 260.25 02. 250.25
03. 24575 04. 27535
05. 240.25



Q-39
hi

e w1 # wwaTa® ¥eg (2) F TATT ITFATAAT?

(725x6x7)+12-13.5=2

02. 250.25
04. 275.35

01. 260.25
03. 245.75
05. 240.25

Solution for Question 39

eng

hi

Q-40

eng

253.75-13.5="?
?=240.25

253.75-13.5=7?
?=240.25

What will come in place of question mark (?) in the following question?

01. _1 02. 1
_.E e _?

03. .1 04. _ 1
T4 o

05. 5

8 T # wAaTa® (=g (2) F AT TTFATAIAT?

3443 3.2 o9

s 35 713

01. _1 02. _1
_,E o _?

03. _1 04, _1
T4 R

05. 5

Solution for Question 40

eng

o~ - f‘r‘.l
s4(2 3 219

*
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Passage for Question 41, 42, 43, 44, 45 (ST-257CRPBCLPRE(11-15M)2020)
eng Passage

Study the following table to answer the given questions.

The table shows the total number of males in TCS and the percentage of females among them in different financial years.

% of females among
Number of
Year total number of
males
emplovees
2014 -15 164565 31
2015 -16 187816 32
2016 - 17 202537 32.6
2017 -18 214132 33




‘2018 - 19‘ 233508 34

hi Passage
freTTast & saeH foe faw arfasr w1 srsgga w30
ATferahT ETEfTe | qEul T o 9T oY fateer fai aut § wigesi  gfaera a1 gaidr g1

o T
T |geu | s & whem
T %
2014 -15 164565 31
2015-16 187816 32
2016 - 17 202537 326
2017-18 214132 33
2018 -19 233508 34

Q-41 What is the average number of employees in all the given years?
eng

01. 275290 02. 275920
03. 297790 04. 297720

05. None of these
Q-41 = U 0 AT § FHATRAT T $Fq HeqT #7182

hi
01. 275290 02. 275920
03. 297790 04. 297720
05. =% ¥ F1E TS

Solution for Question 41

eng . _ 238300+276200+300300+319600+ 353800
Required average number = =
=297720

hi WWWZIESEOO-!- 2?6200+300.500+3]9600+353800
=297720

Q-42  What s the total number of male employees in the year 2015-16 and 2017-18 together?

eng
01. 401945 02. 401948
03. 401958 04. 404950
05. 401598
Q-42 T 2015-16 =¥ 2017-18 H TF AT [&T FHATAT 1 e HEAT ohadt g2
hi
01. 401945 02. 401948
03. 401958 04. 404950
05. 401598

Solution for Question 42

eng Total number of males = 187816 + 214132 = 401948

hi T T e HEAT = 187816 + 214132 = 401948

Q-43 The number of female employees in the year 2017-18 is approximately what percent of the total number of employees in the year 2014-15?
eng

01. 58% 02. 48%



03. 44% 04. 54%

05. 52%
Q-43  FW2017-18 | AIZAT FHATAT T HEAT 2014-15 H F{A FHATAL T HEAT FT FTAT Fhee1 T(erd 82

01. 58% 02. 48%
03. 44% 04. 54%
05. 529,

Solution for Question 43
eng 21413233
1 o/ — 6-' a 0
Required % TeT56s 5100 = 44%
=100
69

hi 214132 =33

anfie % :—164;55; 100 = 44%
—— =100

69

Q-44 What is the difference between the number of male employees in the year 2018-19 and the number of female employees in the year 2017-18?
eng

01. 128040 02. 128060
03. 128009 04. 128050
05. 128006

Q-44 T 2018-19 H T&T FHATIAT il H&AT T qT 2017-18 | WIZAT FHATIAT T H&AT | F4T a< a2

01. 128040 02. 128060
03. 128009 04. 128050
05. 128006

Solution for Question 44

eng Required difference =23 3508 ~ % %33
= 233508 — 105468 = 128040

hi 7y 29
anftE ST = 233508 - 20102 33

67
=233508 — 105468 = 128040

Q-45 What is the total number of female employees in the last three years together?

eng

01. 322723 02. 323723

03. 343723 04. 332723

05. 223723
Q-45  Toeer fiF aut & Fo e wiger =it £ dear G 82
hi

01. 322723 02. 323723

03. 343723 04. 332723

0S. 223723

Solution for Question 45

e Required total number = 30::537 %326+ :14132 %33+ 232208 %34
=97963 + 105468 + 120292
=323723

hi W@W :302537X32_6+214132X 233508

33+ %34
66

=97963 + 105468 + 120292
=323723



Q-46

eng

What will come in place of question mark (?) in the following series?

838 1199 ? 1713 1882 2003

01. 1488 02. 1498
03. 1478 04. 1468
05. 1458

o degT AT ® wAATIE g (2) F TATA ITFAT AAT?

838 1199 ? 1713 1882 2003

01. 1488 02. 1498
03. 1478 04. 1468
05. 1458

Solution for Question 46

eng

hi

Q-47

eng

+19%, + 172, + 152, + 132, + 112

+19%,+ 172, + 152, + 132, + 112

What will come in place of question mark (?) in the following series?

5 30 150 600 ? 3600

01. 1750 02. 1800
03. 1690 04. 1760
05. 1570

Ao =T QAT R THATAF (97 (2) 6 TITT ALFAT AAIT?

5 30 150 600 ? 3600

01. 1750 02. 1800
03. 1690 04. 1760
05. 1570

Solution for Question 47

eng

Q-48

eng

Q-48
hi

5x6=30

30 x5=150
150 x 4 =600
600 x 3 =1800
1800 x 2 = 3600

5x6=30

30 x5=150
150 x 4 =600
600 x 3 = 1800
1800 x 2 = 3600

What will come in place of question mark (?) in the following series?

6 20 ? 676 3364 13444

01. 120 02. 180
03. 116 04. 224
05. 196

o =T AT R’ I7ATF (47g (2) F AT TLFIAT AAMT?

6 20 ? 676 3364 13444



01. 120 02. 180
03. 116 04. 224
05. 196

Solution for Question 48

eng

Q-49

eng

Q-49
hi

6x8-28=20
20x7-24=116

116 x 6 —20 =676
676 x5—-16=3364
3364 x 4 —12=13444

6 x8—-28=20
20x7-24=116

116 x 6 —20 =676
676 x5—-16=3364
3364 x4 —12 =13444

What will come in place of question mark (?) in the following series?

5 11 21 43 ? 171

01. 83 02. 86
03. 88 04. 85
05. g7

fre deaT g Ear # wyaras f9eg (2) F AT ITFAT AAAT?

5 11 21 43 7? 171

01. 83 02. 86
03. 88 04. 85
05. 87

Solution for Question 49

eng

Q-50

eng

Q-50

hi

5x2+1=11
11x2-1=21
21x2+1=43
43x2-1=85
85x2+1=171
5x2+1=11
11x2-1=21
21x2+1=43
43 x2-1=85
85x2+1=171

What will come in place of question mark (?) in the following series?

1 122 266 435 631 ?

01. 796 02. 844
03. 858 04. 798
05. 856

e Tt @t § werara g (2) % S0 9% F4T A

1 122 266 435 631 ?

01. 796 02. 844
03. 858 04. 798
05. 856

Solution for Question 50

eng

1+(11)2 =122
122+ (12)% =266



266 + (13)% = 435
435+ (14)° = 631
631 + (15)° = 856

1+11)% =122

122 +(12)% = 266
266 + (13)% = 435
435+ (14)* = 631
631 + (15)° = 856

Q-51 There are two numbers such that the sum of twice the first number and thrice the second number is 300 and the sum of thrice the first number and twice the
eng second number is 265. Which is the larger number?

03. 85 04. 74
05. None of these

Q-51 =1 s UHY 8 o TEel St HT MY o T THL ST T A T 300 § ST TEeAT ST T A AT ST AL AT HT FRET 265 1 FI oY
hi FET AT 82

01. 24 02. 39
03. 85 04. 74
05. =% F FE AT

Solution for Question 51

eng Let first number be x and second number be y.
According to the question,
2x +3y =300 ... (D)
and 3x + 2y =265 ... (I)
On solving (I) and (II), we get
x=39,y=74
Larger number = 74

hi T v HEAT x qoT I HEAT y 2 |
AT,
2x + 3y =300 ... (I)
3R 3x +2y =265 ... (II)
(I) 3T (I1) T & A IE, BH ITH L &
x=39,y=74
T T = 74

Q-52 The compound interest earned by Kanishk on a certain amount at the end of two years at the rate of § p.c.p.a. was Rs.1414.40. What was the total

eng amount that Kanishk got back at the end of two years in the form of principal plus interest earned?
01. Rs.9414.40 02. Rs.9914.40
03. Rs.9014.40 04. Rs.8914.40

05. None of these
Q-52 8 wfqerd aTfte saTst i I & &1 a9 % o # Ua [ Ty o2 FAeh g7 Ao awd e ATe 1414.40 9 A7) AT ST TS 6 T % & H
hi FT AW F ST H A B AT (HAT qeAr et 190 F4T o412

01. ®.9414.40 02. %.9914.40
03. %.9014.40 04. %.8914.40
05. it & A T

Solution for Question 52



eng Let amount be Rs.100.
Compound interest for the first year = Rs.8
Compound interest for the second year = Rs.8 + Rs.0.64
Total compound interest = Rs.16.64
According to the question,
16.64 = 1414.40
1=285
100 = 8500
Total amount = 8500 + 1414.40 = 9914.40

hi HHT SIRT 100 &, 2 1
TES Y o foTT =Tk sATT = %.8
TE Y o fTT Tohaf sae = %.8 +%.0.64
FA A5 A = £.16.64
BRI,
16.64 = 1414.40
1=85
100 = 8500
et TR = 8500 + 1414.40 = 9914.40

Q-53 A boat covers 24 km upstream and 28 km downstream in 6 hours, while it cover 30 km upstream and 21 km downstream in 4 l
S

eng 2
the boat in still water.

hours. Find the speed of

01. 6 km/hr. 02. 8 km/hr.
03. 10 km/hr. 04. 12 km/hr.
05. 15 km/hr.

Q-53  UF A | 24 T a7 F Wiaget o< 28 T 9T F SAqEA 6 e H AT FIAT 8, Tath Tg 30 AT omer F wicser ofi¥ 21 et oy 3 st
hi 6 L v # o el & | At i e st 3 wrer A

01. ¢ BT, /=iar 02. g T, /=ar
03. 10 fft. seer 04. 12 BFFfy. /8=
05. 15 fafy. seer

Solution for Question 53

en g £y
g '_4+£=5___(1)
u o
30 21 13
+—=—= (I
u v 2 L
From (I) and (II), we get,
u=6,v=14

Speed of the boat = 10 km/hr.

hi 24 2
_4+_S:5 D
u Y
30 5
£+'_1=]_J (I

(1) 3 (10 é, T ITH L ©,
u=6,v=14
e bt =ed = 10 ferdY, /eier

Q-54 A and B started a business with initial investments in the ratio 14: 15 and their annual profits were in the ratio 7: 6. If A invested the money for 10 months
eng means, for how months did B invested his money?

01. 5 02. 6
03. 8 04. 10
05. 9

Q-54  ASTTBT14: 15 % ST § L[EATAT HaeT F AT U HFATT [F (AT 37T ITHT AT0H AT ST 7: 6 H A7T| AT A, 10 FEIH1 % o o 7
hi et Fwar & A1 zEaT o1 g 36 B 7 oy Hgie @ s1ae 9% 7 fHaer e



01. 5 02. 6
03. § 04. 10
05. 9

Solution for Question 54

eng According to the question,
14xx10 7

15xxk 6
k=8

hi TATER,
14xx10 7

15xxk 6
k=8

Q-55 A reduction of 25% in the price of sugar enables a person to get 8 kg more on a purchase for Rs 900. Find the reduced rate of sugar?

eng
01. Rs.24.50 02. Rs.42.50
03. Rs. 38.50 04. Rs.32.50
05. Rs.22.50

Q-55 =T oA § 25% FT FHT A 97 U =AfE 900 =, H 8 . rfafees =1 @dia @hat &, v =11 F7 2T g qoq aqraa?

01. % 24.50 02. % 42.50
03. %.38.50 04. =.32.50
05. %.22.50

Solution for Question 55

eng 00 900

8

4x 5%
o900 _3
20x

x=5.625
Reduced rate =4 x 5.625 =Rs. 22.5

hi 900 _900 _

4% 5%

900 _3

g

20x
x =5.625
HTEATHA =4 % 5.625 =%. 22.5

Q-56 What approximate value will come in place of question mark (?) in the following question?

BT+ (54.78) =2

eng

01. 3240 02. 3570
03. 3830 04. 3990
05. 4210

Q-56 fa T & wwara® 378 (2) ¥ TITT T ATHI FAT HTT ATIAT?

BATT1 = (54.78)7 = 2

01. 3240 02. 3570
03. 3830 04. 3990
05. 4210

Solution for Question 56

eng BHIT+(54.78) =2
290 +3025=7
?=3315 =~ 3240



Q-57

eng

BATT1~(54.78)7 = 2
290 +3025="7
?=3315 =~ 3240

What approximate value will come in place of question mark (?) in the following question?

115% of 624+ 2 of 419+ (47)% +3.25 x 2.5 =2

01. 2511 02. 2372
03. 2452 04. 2349
05. 2486

8 T4 & wAaTa® (=g (2) F AT TT AT FIT HTT SATYIAT?

624Eh‘r115%+419Eh‘r+§+(47)2+3.25 x2.5=7

01. 2511 02. 2372
03. 2452 04. 2349
05. 2486

Solution for Question 57

eng

Q-58

eng

115% of 624+ 2 of 419+ (47)> +3.25x 2.5 =2
717.6 + 120 + 1700 = 2

92537 m 2511

624 FT 115% + 419 T = +(47)° 325 x 2.5 =2

717.6 + 120+ 1700 =?
?=2537 & 2511

What approximate value will come in place of question mark (?) in the following question?

54.35 x 39.87 + 1335+ 3310 3178 =7

01. 4127 02. 3684
03. 3835 04. 3660
05. 3743

e w51 ® wwara® {478 (2) % ST T ANHIT FHT /1T SUTAT?

54.35 x 39.87+ 1335+ 3310 xJA178 =7

01. 4127 02. 3684
03. 3835 04. 3660
05. 3743

Solution for Question 58

eng

Q-59

eng

54.35x39.87 +13.35+./3219 /4178 =?
166 + 3667 =?

3833="?

? & 3835

54.35 x 39.87 + 13.35+ /5319« f1178 =?
166 + 3667 =2

3833=2

? ~ 3835

What approximate value will come in place of question mark (?) in the following question?

(7171 + 3854 + 1195) = (892 + 214 + 543) = 2



01. 13 02. 18

03. 3 04. 26
05. 7
Q-59 frE Y d waara® (Mg (2) F TITT TTATHT FIT ATT ATTIAT?

(7171 + 3854 + 1195) = (892 + 214 + 543) = ?

01. 13 02. 18
03. 3 04. 26
0s. 7

Solution for Question 59

eng (7171 + 3854 + 1195) ~ (892 + 214 + 543) = ?
12220 ~ 1649 =?
7.4="7
=y

hi (7171 + 3854 + 1195) ~ (892 + 214 + 543) = ?
12220 + 1649 =?
7.4="?
V&7

Q-60 What approximate value will come in place of question mark (?) in the following question?

eng
(47% of 1442 — 36% of 1412) + 63 =2

01. 4 02. 5
03. ¢ 04. 3
05. 1
Q-60 TrH I F waaTa® (g (2) F TIATT TT ATHIT FIT ATT ATTIAT?

(1442 7 47% — 1412 FT 36%) + 63 =?

01. 4 02. 5
03. 6 04. 3
05. 1

Solution for Question 60
eng (47% of 1442 —36% of 1412) + 63 = ?

(677.74 - 508.32) + 63 =7
?7=2.6 &3

hi (1442 1 47% — 1412 T 36%) + 63 = ?

(677.74 — 508.32) + 63 = ?
2=2.63

Q-61 In each of the following question, two equations I and II are given. You have to solve them and give answer -

eng
L 3x+2y—-58=0
IL 4x + 4y = 92
01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifx<y

05. Ifx =y or relationship cannot be established

Q-61 frufafag wai & ST Ao [sh T a3 73 § | araaT ST qHIFTU A HA § shTSALIATE -

L 3x+2y-58=0
IL 4x + 4y =92



01. Ffxx>y 02. Ffrx>y
03. FfIx<y 04, Ffrx<y
05. FfT x =y IT FF== wATIOT Tt (6T A7
THATE |
Solution for Question 61
eng L3x+2y-58=0 II. 4x + 4y =92
3x +2y =58
2x +2y =46
On solving above two equations, we get
x=12
2y =46—24
y=11

Hence, x >y

hi L3x+2y-58=0 II. 4x + 4y =92
3x +2y =58
2x + 2y =46
ST ST AHISHLO o1 & Lt O, TH ST hid &
x=12
2y =46 —24
y=11

Ad:, x>y

Q-62 In each of the following question, two equations I and II are given. You have to solve them and give answer -

eng
L 3x2+17x+10=0

IL 10y2 + 9y +2 =0

01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifx<y
05. Ifx =1y or relationship cannot be established

Q-62 fAufafEaagT & Y aHHFTTIh T AR T § | AT T THFOUTAFIA & HTITLIATS —

L 3x2+17x+10=0
IL 10y2+ 9y +2=0

01 TfRx>y 02. afx>y
03. 7frx<y 04. Ffrx<y
05. % x =y 77 F¥awe #ATT Tt 6T ST

ARATE |

Solution for Question 62

el L3x2+17x+10=0

3x% + 15x + 2x +10 =0
3x(x+5)2(x+5)=0
x+5Bx+2)=0
x=-5,x=-2/3

IL10y> + 9y +2=0

10y +9y +2=0

10y2+5y+4y+2:0
S5yRy+1)+2Q2y+1)=0
Qy+1D(y+2)=0
y=—Y,y=-2/5

Hence, y > x

L3 +17x+10=0



3% + 15x + 2x +10 =0
3x(xX+5)2(x+5)=0
x+5Bx+2)=0
x=-5x=-2/3

IL 10y +9y+2=0
10y2 +9y +2=0

10y* + Sy + 4y +2=0
SyRy+1)+2Q2y+1)=0
Qy+1)(5y+2)=0
y=—Y%,y=-2/5

HAd:, y>x

Q-63 In each of the following question, two equations I and II are given. You have to solve them and give answer -

eng
L x2-9x+20=0

ILy>—6y+8=0

01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifx<y
05. Ifx =y or relationship cannot be established

Q-63 fAwfafag wari & T g+ [sh T I &3 13 § | ATt A1 GHIFC0 gq H39 ¢ shTSALIATE -

hi
I x2-9x+20=0

ILy>—6y+8=0

01. Ffxx>y 02. IfIx>y
03. 7T x<y 04. Ffzx<y

05. I x =y 7T F¥awy #ATAT Tt FohqT 17
qEHATE |
Solution for Question 63

Es Lx2—9x+20=0
X2 —9x+20=0
X2 —5x—4x+20=0
x(x—=5)-4(x-5=0
x-5x-4)=0
x=4,x=5

2 _

Ly —6y+8=0
Y2 —6y+8=0
v —dy -2y +8=0
yy-4H-2(y-49=0

y-49-2=0
y=2,y=4

Hence, x>y

Lx>—9x+20=0
X2 —9x+20=0

X2 —5x—4x+20=0
x(x—=5)-4(x-5)=0
x-5x-4)=0
x=4,x=5

ILy> —6y+8=0
y? — 6y +8=0



y2—4y—2y+8:()
yy-49-2@y-4=0
y-9-2=0
y=2,y=4

T, x>y

Q-64 In each of the following question, two equations I and II are given. You have to solve them and give answer -

eng
L 3x+5y=-20
IL7+2x=0
01. Ifx>y 02. Ifx>y
03. Ifx<y 04. ]fxfy

05. Ifx =y or relationship cannot be established

Q-64 fAwfafag wari & T g+ [sh T &3 13 § | araaT A1 qHTFC0 gq H39 ¢ shTSALIATE -

hi
I. 3x+5y=-20

I. 7+2x=0
01. gfxx>y 02. fxx>y
03. gfxx<y 04. 7fxx<y
05. =fy x =y 37 T v ALt oo o

ARATE |

Solution for Question 64

eng x=-3.5
y=-19

Hence, x <y

hi x=-3.5
y=-19
Ad:, x <y

Q-65 In each of the following question, two equations I and II are given. You have to solve them and give answer -

eng
L x?>+4x+4=0

ILy>—4y+4=0

01. Ifx>y 02. Ifx>y
03. Ifx<y 04. Ifx<y

05. Ifx =y or relationship cannot be established

Q-65 fAufafag wai & T gt [sh T &3 13 § | ATaT S GHIF T A HA ¢ shTSALIATE -

L x2+4x+4=0
ILy>—4y+4=0

01. Ffxx>y 02. =fxx>y
03. afEx<y 04, Ffxx<y
05. ofa x =y 7T Feawe T LT o S

TAAE |

Solution for Question 65

eng
Lx2+4x+4=0

K2 +ax+4=0

X 2x+2x+4=0
x(x+2)+2x+2)=0
(x+2)*=0



x=-2,-2

Ly —dy+4=0

y> 4y +4=0
y2—2y—2y+420
yy-2)-2(y-2)=0

(y-2)(y-2)=0
y=2,2

Hence, y > x

I.x2+4x+4=0

X +4x+4=0

X2 H2x+2x+4=0
X(X+2)+2(x+2)=0
(x+2)*=0
x=-2,-2

Ly —dy+4=0

V2 4y +4=0
y2—2y—2y+4:0
yy-2)-2(y-2)=0
v-2)y-2)=0
y=2,2

HAd:, y>x

Passage for Question 66, 67, 68, 69, 70 (ST-257CRPCLERKPRE(1-5R)2020)
eng Passage

Read the following information carefully and answer the question given below.

Seven persons Q, M, R, I, N, L and H are planning to visit in seven different bank CBI, SBI, PNB, ICICI, UBI, HDFC and BOB on a different day of the week
from Monday to Sunday. The order of persons, places and days are not necessarily in the same order.

H plans to visit on Monday but not for place of PNB or BOB. R plans to visit CBI but not on Tuesday. I does not visit PNB but visits bank on the next day of N
who plans to visit HDFC bank. L plans to visit UBI bank on Friday. M plans to visit ICICI bank on Wednesday.

hi Passage

Frafafra Srasrd F1 amgdF ag A= a3 @ grsrsIhHtvm

ara =fRF Q, M, R, I, N, L 3iIT H THTE % A T-HT & HiHare & A9 T 9T AR1-31eRT 91 CBI, SBI, PNB, ICICI, UBI, HDFC 3t BOB #T
ITATT FXA T AT a47 T g1 SR, TIHT AT &A1 6 77 T4 721 6T FH | gl

H, TTHETE &1 JTAT FTA ¥ TISTHT 997 2T & AT PNB T BOB 21 SITaT 21 R, CBI #¥ AT T #i¥ ATSIHAT 99T W8T 8 AT AT 7 7511 I, PNB #iY
ITAT FTA T TTSHET Al a7 LT 8 AT N o RTel {2 S ¥ ATAT F2 ¥ AT 9497 T2T g ST HDFC S5 ¥ ATAT F:3 ¥ AT 947 W27 21 L, AT
FT UBI & T ATAT A T AT 997 T&T g1 M, TEATE &7 ICICI S ¥ JT7 F:7 ¥ JI57 47 727 =)

Q-66  Among the following which of the combination of day-person-bank is correct?
eng

01. Monday-H-CBI 02. Wednesday-M-PNB
03. Thursday-I-BOB 04. Friday-L-UBI

05. None of these
Q-66 wfafEd ¥ & F1 a7 fad-=Ah-3% T GAST G2l 82

01. #FHa-H-CBI 02. FF-M-PNB

03. Ea-1-BOB 04. epFaTe-L-UBI
05. =8 F FIE Tl



Solution for Question 66

eng MONDAY |H SBI
TUESDAY Q PNB
WEDNESDAY | M ICICI
THURSDAY |R CBI
FRIDAY L UBI
SATURDAY |N HDFC
SUNDAY | BOB
hi @ |H |sBi
|Frear | Q PNB
| M ICICI
! ;E R cBl
E AR (L UB|
| srferam N HDFC
l!q;ﬂ:q_'ﬂ | BOB
Q-67  On which day Q goes bank?
eng
01. Monday 02. Wednesday
03. Thursday 04. Friday
05. None of these
Q-67  Q fH faw o= &t A= e A FroT AT 2T |2
hi
01. 9Ha™ 02. AT
03. RICEIES 04. HELIES
05. i & e
Solution for Question 67
eng MONDAY |H SBI
TUESDAY Q PNB
WEDNESDAY | M ICICI
THURSDAY |R CBI
FRIDAY L UBI
SATURDAY |N HDFC
SUNDAY | BOB
hi g |H |8l
|FareaR | Q PNB
| M ICICI
! :ﬁ R cBl
E';P-aﬁ L usi
|sfrar | N HDFC
%;ﬁﬁ; | BOB
Q-68  Who plans to visit the bank immediately before L?
eng
01. R 02. H
03. M 04. N
05. Q
Q-68 L TT TEA 9 ST il JTSAT &l aTaT 82
hi
01. R 02. H
03. M 04. N

05. Q



Solution for Question 68

eng MONDAY |H SBI
TUESDAY |Q PNB
WEDNESDAY | M ICICI
THURSDAY |R CBI
FRIDAY L uBl
SATURDAY |N HDFC
SUNDAY | BOB
b Ere— T B
AR | Q PNB
qyar | M icicl
B R cBl
[ AR L s
e S—— HDFC
T BOB
Q-69 How many persons plan to visit the bank between H and N?
eng
01. 1 02. 2
03. 3 04. 4
0s. 5
Q-69  HET N ¥ &= Fhaw =af<n & it T FA 1 A1 a1 7 87
hi

01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 69

eng MONDAY |H SBI
TUESDAY |Q PNB
WEDNESDAY | M ICICI
THURSDAY |R CBI
FRIDAY L UBI
SATURDAY |N HDFC
SUNDAY 1 BOB
T pr——
) PNB
qwarw M icici
B R cal
% R | UBI
o — Y HDFC
Tarw | BOB
Q-70  Who plans to visit HDFC bank?
eng
01. L 02. N
03. M 04. |
05. Cannot be determined
Q-70  HDFC & % AT HIA 3T ATSIAT FIF a7 72T 82
hi

01. L 02. N
03. M 04. 1



05. fReifia 72t AT s asrar

Solution for Question 70

eng

Q-71

eng

Q-71
hi

Q-72

eng

Q-72

hi

Q-73

eng

Q-73

MONDAY |H SBI
TUESDAY |Q PNB
WEDNESDAY | M ICICI
THURSDAY |R CBI
FRIDAY L uBl
SATURDAY |N HDFC
SUNDAY | BOB
HHar M |sBi
FreER | Q |PNB
T M licici
e R |cai
gjﬂw L |uBl

S —— HDFC
tRErw | |BOB

What should come in place of question marks (?) in the given expression in order to make 'E > D’ and ‘Y > S’ definitely true, respectively?

Y(?)F>K=]>S>D<G(?)R<E

01. <
03. =,

0S. Other than these options
FATE ATHATFE T FAME> D T Y > S AT F7d Feg g & g asw frew (2) F e arFrarararfg 2

02. <<

>
> 04. > <

Y(?)F>K=J>S>D<G(?)R<E

01. <
03. =,
05. == faseal  srerrar

> 02. <<
> 04, > <

What should come in place of question marks (?) in the given expression in order to make 'T < K’ and ‘K > G’ definitely true, respectively?

H<G?)I<E=K®)F>J=T>S

01. < > 02. <<
03. = > 04 < <

s

05. Other than these options
7L Afr=amfF 8 ®790: T< K UK > G faasvd g gq F fgys fHreq () F sama g Faranararfge 2

H<G(?)I<E=K (@) F>J=T>S

01. < > 02. <<
03. = > 4. < <

s

05. == fasheut & retrar

What should come in place of question marks (?) in the given expression in order to ‘Y > S’ definitely false,?

D<R<SMF>K=J>Y

01. < 02. >
03. = 04. <
05. >

& W% Fiwaafed vY> 8 Afag €08 staca gq & frows rea (2) & saqra axFgrawar arfge 2

D<R<S(F>K=J >Y



01. < 02. >
03. = 04.
05.

IN

A%

-74 What should come in place of question marks (?) in the given expression in order to make W > X ’definitely true?
p q g p y

eng
Z>V=W@)T>Y@?)X>R>S

01. <> 02. <>
03. => 04. < <

05. Other than these options.
Q-74 TrwTafwr=afmEd w>X AT Ead g am & g as freq () F sara o warsrar TriRw ?

Z>V=W@)T>Y(?)X>R>S

01. <> 02. <>
03. = > 4. < <
05. = fasheut & sretrar

Q-75 What should come in place of question marks (?) in the given expression in order to make 'J > D’ definitely false?

eng
JSG()R<E=Y@?)F<K=D>S$

01. < > 02. > >
03. = > 4. < <

0S. Other than these options
Q-75 Frwtafwafw® I>p AT aaca g F g ws e (2) F s g FAT AT AR 2

JSGO)R<E=Y@?)F<K=D>S$

01. < > 02. > >
03. = > 04. < <

s

05. == faaedi AT

Passage for Question 76, 77, 78 (ST-257CRPCLERKPRE(11-13R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Point R is 12 m towards the south of point S. The distance from point Z to point R is 8§ m towards the north. Point Q is 5Sm north of point U. The distance between
W and Q is 15 m, where point Q is to the west of point W. Similarly, the distance between points Z and W is 4 m, where W to the north of Z.

hi Passage

oo g7 F T AT TETFT R AT FRT T w577 F IACE -

g R, FgSF 12 Hex afamr e g1 Mgz g RAT T 8 Hrew ST AT afiv gl g Q, A U 5 Hex STT § 81 W sliT Q & &= it g3T 15 Hiex g,
e fig Q, Mg W ufsrm § 81 s ave, g Zshir W i fr g1 4 Hiew 8, TeT W, Z % ST | FRaa g

Q-76  Whatis the total distance between S and Z?
eng

01. 15m 02. 21m
03. 20m 04. 19m

05. None of these
Q-76 S 3T Z % o1 T % T4 Fohasl g2

01. 15+t 02. 21 #¥
03. 20 04. 19



05. =% A 1S T2

Solution for Question 76

eng S
12
21,93 7
- R
|4
Q 1> W
" | 4
5 h
Z
U
hi S
12
21,93 7
- R
|4
Q 1o W
" | 4
5 2
Z
U

Q-77 Z is in which direction from point Q?

eng
01. North-West 02. South
03. East 04. South- East
05. North

Q-77 FEgQafEgzrafRear#g?

hi
01. Sgoafse 02. =feror
03. TF 04. =T oF
05. 39<

Solution for Question 77

eng s
—— 12
) S !
|4
Q 15 7
s | 4
=
U
hi S
W—_ J 12
P R
|4
Q< 15
s | “
7
U

Q-78  PointQ is in which direction and how far from the point S?
eng

01. East-21 m 02. South- West-21.93 m



03. North- East-22 m 04. West-20.75m

05. None of these
Q-78 g Q, g s farm faar & siw ot g2 82

hi
01. gF-21 #F 02. =feror- gfem-21.93
03. I- q@-22 #t 04. Tf2r7-20.75 ¥t
05. =i & ¢ T
Solution for Question 78
eng S
-7z
2193 .~
£
-~ - R
K
Q - ]_ 5 W
; 4
Z

=

P b T
2193 ;7
-
f’/ R
L 4
5 4
Z

Passage for Question 79, 80, 81, 82, 83 (ST-257CRPCLERKPRE(14-18R)2020)
eng Passage

Following questions are based on the five three-digit numbers given below.

445, 681, 734, 328, 591

hi Passage

frafafas o = frrrw ofs Breiwt aret dear v ararfa g

445, 681, 734, 328, 591

Q-79 If the positions of the first and the second digits of each of the numbers are interchanged, which of the following will be the difference between the highest
eng and the fourth-highest numbers thus formed?

01. 577 02. 400
03. 477 04. 367
05. 200

Q-79 {3 woIT HEAT F g ST THL IHT F T AT AUH § Fa (AT S0, ¥ % F & FI-97 T a2 qeqT i =i qaw a7 w@ear F = a7
hi IT?

01. 577 02. 400
03. 477 04. 367
05. 200

Solution for Question 79

eng 445, 681, 734, 328, 591
445 861 374 238 951
951- 374 =577



hi 445, 681, 734, 328, 591
445 861 374 238 951
951- 374 =577

Q-80 If'1" is added to the last digit of every odd number and 2' is subtracted from the last digit of every even number, then how many odd numbers would be
eng formed?

01. Two 02. Three
03. Four 04. Five
05. None

Q-80  =fx s Ao s o Sifaw o & 11" 1 ST ST § 3 Yo 99 AT % QW o & 2" FT JerdT S 8, 91 37 Y1 fhaT fEroe qeand
hi FAT?

01. =y 02. HiF
03. =TT 04. qi=

05. e

Solution for Question 80

eng 445, 681, 734, 328, 591
446 682 732 326 592

hi 445, 681, 734, 328, 591
446 682 732 326 592

Q-81 If 2 is subtracted from the middle digit of each number, then how many such numbers will be divisible by 3?

eng
01. | 02. 2
03. 3 04. 4
0s. 5

Q-81 =T Y= AT F HeA 3 F 2 "HTAT AT &, A UHT faha«t §edT0 & 51 3 # forers= g

hi
01. | 02. 2
03. 3 04. 4
05. 5

Solution for Question 81

eng 445, 681, 734, 328, 591
425 661 714 308 571

hi 445, 681, 734, 328, 591

425 661 714 308 571

Q-82 If all the numbers are arranged in descending order from left to right, which of the following will be the fourth from the left?
eng

01. 681 02. 734
03. 591 04. 445
05. 328

Q-82  =fe |+t SIS & AT | 370 STALlal HF  SAG AT (AT SITaT €, Al (e ered § § HI9-97 ar0 & A&7 §e&a1 e

01. 681 02. 734
03. 591 04. 445
05. 328

Solution for Question 82

eng 445, 681, 734, 328, 591
734, 681, 591, 445, 328,

hi 445, 681, 734, 328, 591
734, 681, 591, 445, 328,

Q-83 What will be the result if the third digit of the lowest number is divided by its second digit?
eng



01. 6 02. 4

03. 1| 04. 5
05. 2
Q-83  =fe Haw =t AT ¥ AT o 1 Iaeh gAY o & fararior o s v afors w7 g
hi
01. 6 02. 4
03. | 04. 5
05. 2

Solution for Question 83

eng 445, 681, 734, 328, 591
8+2=4

hi 445, 681, 734, 328, 591
8+2=4

Passage for Question 84, 85, 86, 87, 88 (ST-257CRPCLERKPRE(19-23R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

8 friends A, B, C, D, E, F, G and H were born on different years 1980, 1981, 1975, 1987, 1985, 1997, 1991 and 2000 (not necessarily in same order).

Note: They all were born on 1st January and consider their ages as on 1st January 2020).

Three persons are born between A and B. Two persons are born between H and G. Difference between the age of A and F is 10. C born just after G. A is older
than B. Sum of the ages of C and E is three more than the age of D. B was born after A.

hi Passage

Fafafaa sTasrd &1 eamgd® sregaaT 3 A= g agwiw s

8 f T A, B, C, D, E, F, G 3T H T SI¥H STeT-31eT a6t 1980, 1981, 1975, 1987, 1985, 1997, 1991 3T 2000 (&< &1 % IHT %7 #) H gam g

A T AT L AT FTAITET R T 1 TN 2020 TF STHT IF T FA=mTH:L)

T =R A 3% B % &= 9271 g0l &7 AT H o G % = 927 g0l A 3T F &1 3 & = 10 9 &7 (@7 g1 C T 50 G F 1% a2 gA €l A, BHFET 2
C 3T E % 3 &1 T D T 0 & A AT 21 B, A a18 TaT gam

Q-84  Whatis the age difference between A and B?

eng
01. 11 02. 14
03. 13 04. 15
05. 12

Q-84 AT B &= AT T HAT FATE?

hi
01. 11 02. 14
03. 13 04. 15
05. 12

Solution for Question 84

- YEAR AGE PERSON
1975 a5 A
1980 40 D
1981 39 H
1985 35 IF
1987 3 B
1991 29 e
1997 23 IC
2000 20 E
hi

| ok | 3 e |



1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
Q-85  Inwhich year B born?
eng
01. 1985 02. 1980
03. 1987 04. 1991
05. None of these.
Q-85 Bf¥wai#H d=TgamA™
hi
01. 1985 02. 1980
03. 1987 04. 1991
05. it 1 8 i
Solution for Question 85
e“g YEAR AGE PERSON
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
hi
a s i
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 c
2000 20 E
Q-86 How many persons are younger than H?
eng
01. One 02. Two
03. Three 04. None
05. None of these
Q-86 HIfFaT=afF T E?
hi
01. 02. 3y
03. 04. =1 LT



05. T & F1E T

Solution for Question 86

e“g YEAR AGE PERSON
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
hi
¢ m‘g wafea
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
Q-87 Which of the following person younger than G?
eng
01. E 02.
03. B 04.
05. None of these
Q-87 fwfafaa # g% ==t G A BT 22
hi
01. E 02.
03. B 04.
05. it 1 8
Solution for Question 87
= YEAR AGE PERSON
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
hi
¢ g i
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B




1931 L3 L
1997 23 C
2000 20 E

Q-88  Whatis the age of D?
eng

01. 45 years 02. 35 years
03. 40 years 04. 29 years

05. None of these
Q-88 DFTIEFTE?

hi
01. 45t 02. 3539
03. 409 04. 29 7
05. =% &S TEH
Solution for Question 88
= YEAR AGE PERSON
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E
hi
T g @afea
1975 45 A
1980 40 D
1981 39 H
1985 35 F
1987 33 B
1991 29 G
1997 23 C
2000 20 E

Passage for Question 89, 90 (ST-257CRPCLERKPRE(24-25R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

L,M,J,Q,S,Pand T are seven members in a family. J is not brother of M but M is son of P. L and P are a married couple. S is the brother of J who is father of P.
T is brother of M. Q is daughter of L.

hi Passage

fafafaa srasrd &1 samgd® saregga 2 TR ooyt ® s

L,M,J,Q,S, P sitT T ua qf¥ame & €1 a7 €1 J, M FT ATE T81 € At M, P &1 T 1 L 37 P U fAarf@a sirer g1 S, JFT 91 ST P &1 f4ar 81 T, M
FTATE g1 Q, L FT T &1

Q-89  How many children do L and P have?
eng



01. 4 02. 3
03. 2 04. 1
05. Cannot be determined

Q-89 L& P ey &

01. 4 02. 3
03. 2 04. 1
05. fReifa 7t e S skt

Solution for Question 89

eng - 4
J =5

- _.']—__.

Qe—M— T

Q-90 If P is female then how is J related to Q?
eng

01. Mother 02. Paternal Grandfather
03. Maternal Grand Mother 04. Father

05. Maternal Grandfather
Q-90 FRPAREATZ AT, Q ¥+ Hafd g2

hi
01. wrar 02. &g 3TaT
03. Hrq aTEY 04. foqr
05. wTq 3TaT

Solution for Question 90

eng = _
J —

= _.']_; P_' I

Qe—M—T

Qe—M—T

7 Passage for Question 91, 92, 93, 94, 95 (ST-257CRPCLERKPRE(26-30R)2020)
eng Passage

Read the following information carefully and answer the questions given below.



Eight persons —K, B, C, D, E, F, G and H are sitting in a straight line facing north. All have different ages (in years) — 17, 20, 23, 18, 28, 33, 35, and 39 but not
necessarily in the same order.

D is immediate neighbor of B. G is as much younger than D as he is older than H. None of G, H, and D are sitting immediately to one another. C is sitting third to
right of the one who is 17 years old. K is sitting second to right of the one who is 35 years old. At least three persons are sitting between G and K. F is sitting third
to right of the one who is 10 years older than him. K is not the oldest. G is sitting second to left of the one who is 18 years old. Two persons are sitting between G
and B. Person having age 23 is sitting immediate right of B.

hi Passage
Fafrfaa STaeTa w1 s @ o2 TR feg g ast ¥ 39

a3 =t - K, B, C, D, E, F, G 3fiY H 3T &l 3T 4@ Flah U e 1@l § 95 2| THT 00 STT-37e9 39 (6T #) - 17, 20, 23, 18, 28, 33, 35 3T 39 &,
AT ST TRl o6 =& FH H 2

D, B &T Mead T2 81 G, D il a1 & IaT eI |ieT g DA F ag HE F=T 81 G, HR DH T TS oY, UF gAY & A T2™ A dal 9% 81 C, 17 a9
T A AT F T AL T I 9257 81 K, ST 35 T F7 2, 36 a4 | T T T2 AT g1 FH F FH A1 =416 G T K F = 9 §1 F 39+ 01 e
T T 92 F27 2 S T 3899 10 99 927 g1 K 999 92T T2t 81 G 18 a9 ¥ 37 ATl SAT<E & 10 8 AL TIH T 927 g1 G 377 B F 1+ a1 =Af<h 9% gl
23 I ¥ AT T A B F 1 10 927 2

Q-91  Whatis the age of F?

eng

01. 28 02. 23
03. 17 04. 18

05. None of these
Q-91 FHTFATE?

01. 28 02. 23
03. 17 04. 18
05. =3 & 718 T

Solution for Question 91

eng

Hem E== G== C= F=B=—=D=—K
17 23 20 39 18 35 23 33

Hem E== G== C= F=B=—=D=—K
17 23 20 39 18 35 23 33

Q-92 Four of the following five are alike and thus form a group. Which is the one that does not belong to the group?

eng

01. F 02. D
03. B 04. G
05. E

Q-92 AwfafEd af= § & 1T UF o9 & ¥ 30 THY UF T4 a91d 2| a8 Hid 87 ¢ S q4g H gared qai 82

01. F 02. D
03. B 04. G
05. E

Solution for Question 92

eng

Hemm Ee G Com o B D ==K
17 28 20 39 18 35 23 33

O




Q-93

eng

H—E— G=—C=— F—B—D—K
LT 28 20 39 18 35 23 33

What is the position of the one whose age is 18 years with respect to the one who is the oldest among all?

01. Second to the left 02. Third to the left
03. Second to the right 04. Third to the right

05. Immediate right
S =af<r i 39 Fa¥ otfa g, 39+ 9aer § 18 a7 il g T AT F47 82

01. FTd FET 02. U frEer
03. =70 gET 04. =TT T
05. qohTer 210

Solution for Question 93

eng

Q-94

eng

Hem E= G== C= F==B=—D=—K
LT 28 20 39 18 35 23 33

Hemm B G Com [ o B D ==K
17 28 20 39 18 35 23 33

‘Who among the following sit(s) at the extreme end?

01. Both Hand K 02. p

03. H 04. BothBandK
05. g

o § & a9 dfim g w282

01. HsfiTK Il 02. p

03. H 04. BT K At
05. E

Solution for Question 94

eng

Q-95

eng

Hem E== G== C= F=B=—=D=—K
17 23 20 39 18 35 23 33

Hem E== G== C= F=B=—=D=—K
17 23 20 39 18 35 23 33

What is the difference between the ages of K and E?

01. 3 02. 4
03. 7 04. 0
05. 5

K 3T E #¥ 3 § 47 3ia¥ 82



01. 3 02. 4
03. 7 04. 0
05. 5

Solution for Question 95

eng

Hem E== Ge= C= F==B=—=D=—K
17 28 20 39 18 35 23 33

Hem Ee= Ge= C= F=B=—=D=—K
7 28 20 39 18 35 23 33

Passage for Question 96, 97, 98, 99, 100 (ST-257CRPCLERKPRE(31-35R)2020)
eng Passage

Read the following information carefully and give the answer the questions given below.

Eight girls - Zuly, Preet, Ishita, Simmi, Ginni, Harshita, Yamini and Aisha are sitting around the circle. In which four of them are facing the centre and four are facing
outside the centre. Each of them likes different dress- Banarasi saree, Long kurta and jeans-top. In which only two girls like the Long kurta. Girl, who like same
dress or facing in the same direction are not sitting next to each other.

Yamini is not facing outside the centre and is sitting second to the left of Ginni and third to the left of Preet, they all like same dress. Zuly is the neighbour of Aisha
who likes Jeans-top. Aisha is facing outside the centre. Harshita is sitting just opposite to the Preet and likes Jeans-top. Simmi is the neighbour of Ginni and likes
Long kurta.

hi Passage
Fafafaa ITasTd &1 samgd® sregaa w2 A= o ag i w sacdHitm:

a3 ARt S, e, =terar, e, [, gftar, anfae sie Tt a9t v 39 % =) e 33 €) Sod & =91 g A 7Y o7 A e+ ouda 3w @
B ITH | TAF AAT- ST T — ST TIET, AT F/AT AT SATH-21T T3 HTdT g | oo | Faer a7 A6t AT F/al 969w w2l g1 F AT, S
T ST TR THE FAT 8 AT T (297 6 ¥ Tl 8, TH-TH 6 AH-TT6 T2 437 &

ITTHAT ST Feg & JTgY il A< Al a9 Lol g, Rl o ard gaT T S o ard T 231 €, T a1 UF &1 TR T84 Fdt 81 S[eT, UIIT &l 9g= g S
STE-2 1T q878 T g1 VAT &g & [A9i0d 3@ T2l g1 giaar, Wid % Uwa fAadid 927 8 oi? siv-21q aows wedt g1 e, [eft &t 92 § she ater
FAT THE FAT B

Q-96 Which of the group of girls like Banarsi saree?
eng

01. Harshita, Aisha, Simmi 02. Preet, Yamini, Ginni
03. Simmi, Ginni, Aisha 04. Ginni, Ishita, Simmi

05. Ishita, Preet, Aisha
Q-96  TETHAT FT FIT A7 AL TAHT ATEN THE F2aT 22

hi
01. gffar, o, Rrefy 02. i, AT, frefy
03. o=, [=h, Terr 04. Y, =foraT, et
05. zforar, e, war

Solution for Question 96

eng s

Long-kurta
SIMMI

PREET
Banarsi-saree

ZULY i
Long-kurta QLN

Banarsi-saree

Harshita
Jeans-top

AISHA

Jeans-top ey
Fa iy

Banarsi-sares



Q-97

eng

S=g-era

SRar  ateT el
EiG} fws
FATCHT FTEr
) STl =i
et et e |
v REGH
SEH-CT gy Sed-ed
FARET TS

How many girls sits between Simmi and Aisha?

01. One 02. Two
03. Three 04. More than three
05. None
Y oire Tt 3 = foraeit et St 82
01. uw 02. =7
03. &= 04. i & srfer
05. =g =gl
Solution for Question 97
Jeans-top
ISHITA

eng

Q-98

eng

Long-kurta
SIMMI

PREET
Banarsi-saree

ZULY

Long-kurta GR\N[l e
Banarsi-saree
AISHA Harshita
Jeans-top Jeans-top
YAMINI
Banarsi-saree
Seg-gra
sfRrar ST Fdr
s IT:E==1)
FATHT FEY
& et
AT Foel FAHT FIE
Term ghar
Sed-gld  qfpeh  Sied-cig
Eoire:if:ici

Four of the following five are alike and thus form a group. Which is the one that does not belong to the group?

01. Harshita, Preet, Aisha, Simmi 02. Preet, Aisha, Zuly
03. Simmi, Ginni, Aisha, Preet 04. Ginni, Ishita, Simmi, Harshita

0S. Tshita, Preet, Aisha
Referfed af= & & =91 UF 59 g T 39 T UF 99g a97d ¢ 98 HId 97 & S 99 J Gaiad qg! 82

01. zfifar, s, Trom, fRedy 02. <fia, TorT, et
03. farmfy, fsf, from, i 04. =, =forar, Ry, 2ffar
05. zforar, Tira, Torr

Solution for Question 98



eng Jeans-top
ISHITA

Long-kuria
SIMMI

PREET
Banarsi-saree

ZULY o
Long-kurta QLN

Banarsi-saree

AISHA Harshita
JTeans-top Jeans-top
YAMINI
Banarsi-saree
hi sh=aefa
sfrar  Afer F
e IFaE=sif
FATCHT @TEr
L o=t
wlleaT el FACHT FIE

TRl giar
SEH-TT gy Sed-ST

FARET FTE

Q-99  Which dress is Ishita’s favorite?
eng

01. Banarsi saree 02. Long kurta or Jeans-top
03. Jeans-top 04. Banarsi saree or Jeans-top
05. Cannot be determined

Q-99 =T Y THETET T I AT g2

hi
01. AT ATST 02. =T FHal a1 siF-21T
03. Sfier-ziT 04. FFTTHT |TET AT SOH-21T
05. fRerffa 72t o o Jear 8

Solution for Question 99

eng Jeans-top
ISHITA

Long-kurta
SIMMI

PREET
Banarsi-saree

ZULY "
Long-kurta R

Banarsi-saree

AISHA Harshita
Jeans-top Jeans-top
YAMINI
Banarsi-saree
hi g
ST ST Pl
B Rwadr
FTCHT TS
L IEIC=]
w31 i FARHT |

e gftan
Sfem-eld iy Sew-ei

FARGT TS

Q-100 What is the position of Zuly in respect of Harshita?
eng



01. Second to the left
03. TImmediate left

05. Cannot be determined
Q-100 ZTTaT = e 7 ST 67 Rorfa #4782
hi

01. 370 &

03. T aTg

05. ferifya 7t foram ST FaT
Solution for Question 100

eng Jeans-top
ISHITA

Long-kuria
SIMMI

PREET
Banarsi-saree

02.
04.

02.
04.

Fourth to the right
Third to the right

T =TT

ZULY i
Long-kurta GB‘M.
. Banarsi-saree
AISHA Harshita
Jeans-top Jeans-top
YAMINI
Banarsi-saree
hi Seg-cra
ST ST Fell
e IFaE=sif
FAET ATET
L =i
e TE" FAHT HET
e gt



